410

440 410

440

410012 / 188 E=

41001 / 188E3

44003 / 206E3

ﬂHn

§
+
Il
<}
oC
\I
] IJ
>
0

b
=
=
W
7
>
7
by

(g s, JeRY mzl =eo|=

(G - M, BEIIM| =8
4x2 6x4 EHH 6x2 EYH
=
380 380 410 440 410 410
38001 2{/148E 3 3800}24/160E 3 4100424 /188E 3 2400} 24/206E 3 4100}24/188E 3 4400}24/206E =
R 10EH/ S5l 20k ZF A%l 16Tl 3%l 2ck
Z0{ 0 + 2lo| W7t =2A=Z= MAFR|+ABS /ASR
2ozl (pnaeet), JHRY wzl Byjo|=
2 Hi7 | =20]= Ho| = 7| Ho| =
7 [ EHOL OF (@) 12R22.5 2HC| 2IEFO|0]
z# EOIO(#) 12R22.5 2HE| 2ELO[of
Al 01 EHO] OF 12R22.5 2| UELO|O( XIF-& FHa|of SUE Alch &AL
SETRAEE(N, =)
= 380 ¢ 380 ¢ 380 ¢ 380 ¢ 380 ¢ 380 ¢
o 2 70,800 76,600 79,800 83,100 -
A
5|2 73,500 - - 86,200 - 90,400
=y HAIIZR, AR0IEEUE TUENYUS
[ |
| assaz | aE
IMFIZR( R4, 4x2ESE HM2]), HojCIZSE (1502, 4x2EE HM|2])

=]

HU

H700 2F|2
A 25

484! Z2RI0EHY S

OfloAAM A HIMA | E(F]

 E2E HIES Y= MUY oF2A| = Yol (=
l271H),
HHTPO) E20{ IIE(EZx HHO|E HE X|F), ofofd HZEE

A A

=+

SHY pAE, 2HM

R

HIO|H, HE S
=E(oflofd Hi2)), ¥RalE AZMI/olojE=T

=2z Raiy WEIEIMIAS, Ol02IL UAIZ REFB LR SH0|T 7 HE. MFHER]

=a g
e
SEaex CRIRE RIS ISR 2 AN, HEA LS TEEKIE 12V 28l tiREl oloft 8 SlEl,

=
SAd7[5). wel HE? SUESARRY DojE=

SMLE X8 S2IEHE

M >~ ng o |m

0
U

=

In
5
I

HO

1[4

[e)

5

:
=)

1A AO| = MHFO|A, =5

==

ZEIBO| X PETH

M MO, &=

4 HE| HIM GAE( AT A EF ], M UNE), D527t =HIE

B0 AP | EEEH ZE K|

=22E 002 & 3F, =3 HE

M gl A= ut2HoD ZHOloy2r] 2. E Al HIYS #x |

12CHAUTO TM(4708H2!, 44001236 < 4), 16TIAUTO TM(5500HH, 44001246 % 2)

410/4400/24 8 TM PTO(702+ ), 38001242 T™M PTO(302H)

00 > 1T rx mE oM Im

- = AUTO TM £ PTO(1100+8l, 6X2EAEIZ S PTOSA 0|2Y)
© < WS ATI(400 ), FH P AAR200HY), ST HBHER| (FAH
Mo|= 23|0|=( 1502k, B0 RIE L 410 PRORIE), 7|71|ME+5_—|EH£(10'1+%)
% 12CH AUTO TM MENA| m}j@| gl &ot &=}

o ol ezfolm( 102H)
z 1,400 - - 2,200 - -

o=

2T -
= * 714 0|EA| RS0 YR0lEE B4 12

714 olEA AE0ls 2R0lzE 88 0I22

=2 H7 | =23jj0|= CRVE] R E R EEEEI
1_1‘ EI 0| 01 (&i) 12R22.5 | 2IEFO|O
z# EOIOI(#%) 12R22.5 2HE| 2EFO[of
éﬂ"O‘lEl'OlO'l 12R22.5 EHC| LEIO|0{ (XIS 2 7H2| 0 S = ATt FH})
g ] eessagy (M, $5)
o = 3801 3801 3801 380 1
It o g 81,300 84,800 :
H
|2 L= - 87,700 - 91,200
B LT EEUE BUEARS
EdH HE SRURI(F B.CT S Oflof = 2N
o eSO
W CEREY
E [
— _ _
Y EAS EREEES
QEIRE CIRIYELAIRNE Ol0fSREY 2 MAHM, FEA| Soi?y DMTAIS 12V ZHE] OhFREre) o021 L SIE
E HI SCle 22 IS HE SMUHSE OFRAO|S Wol{(Z5A MSZTLS), ot
= o T | SUYUSAEM TOIRSEAL M HHMAEMAIE( EEHY), 284 UHAE, MM MUIOIA, SMLHE A5 S2EH|IE,
= HH(TPO)ZZN THE(EZX BHHUE BHE XI5), oloid HZE =Z(ollod X)) =al B3 /0llo{R4=,
| 454 Z2|ELY ==, FEE ZEEIAMDAE o022 wXE 2EHZ e 230|3 H4E, MFHHEZ
=
[ —
Al R UE|BIMGAE(HATEA| EFH, SMUE), TFATIISHIE, E2E o= PE Rl LE
g =z C | SxA Ajol= Mbolx|, =4 A Ol A Tl A Za|0]0)/ QL] 2. HBE Hxma
ol=elolx, PETY =0, H7|o=
E |3 = ), FHHSBAIAH DDIH), STHEAR( FA)
= ° FRef=(100), H[o] = E|0|=( 1500, 410 P
H
=
Mo 2 o2 L2t [R( 102k
EH
|
A= - 2,200 - 2,200
o2l
(g c =T Uls

10




